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Ⅰ 注意事項 

   解答用紙に「英語」と記入・マークしてから解答してください。 

   問題は 1 ページから 8 ページまであります。 

   問題は持ち帰ってもよいですが、コピーして配布・使用するのは法律で禁じられています。 

 

Ⅱ 解答上の注意 

   解答は、解答用紙の解答欄にマークしてください。例えば、「解答番号は 10 」と表示のある

問いに対して④と解答する場合は、下記の例のように解答番号 10 の解答欄の④にマークしてくだ

さい。 

 

 

 

 

 

 

 

 

 

 

（例）  

解答番号 解  答  欄 

10 ① ② ③ ● ⑤ ⑥ ⑦ ⑧ ⑨ ⓪ 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題は次のページからです。 
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問題Ⅰ 次の問１～１２において、英単語の意味として正しいものを①～④の中から一つずつ選べ。た

だし、④は正解が①、②、③のどれでもない場合の解答となる。解答番号は   1   ～  12  

 

問１ convince  1  

 

① 移動させる   ② 確信させる   ③ 終わらせる   ④ 左のどれでもない 

 

問２ provide  2  

 

① 上達する    ② 分割する    ③ 供給する    ④ 左のどれでもない 

 

問３ protect  3  

 

① 保護する    ② 確認する    ③ 予約する    ④ 左のどれでもない 

 

問４ appreciate  4  

 

① 応募する    ② 起動する    ③ 感謝する    ④ 左のどれでもない 

 

問５ grocery  5  

 

① 食料品店    ② 成長      ③ 地理      ④ 左のどれでもない 

 

問６ schedule  6  

 

① 科学      ② 予定      ③ 裁判      ④ 左のどれでもない 

 

問７ requirement  7  

 

① 任務      ② 要求      ③ 酒類      ④ 左のどれでもない 

 

問８ survey  8  

 

① 調査      ② 採掘      ③ 祝福      ④ 左のどれでもない 

 

問９ automatically  9  

 

① 実際に     ② 自動的に    ③ 丁寧に     ④ 左のどれでもない 
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問１０ crucial  10  

 

① 細やかな    ② 残酷な     ③ 重要な     ④ 左のどれでもない 

 

問１１ intermediate  11  

 

① 国際的な    ② 自由な     ③ 完全な     ④ 左のどれでもない 

 

問１２ sustainable  12  

 

① 疑われる    ② 中止できる   ③ 開発できる   ④ 左のどれでもない 

 

 

 

 

問題Ⅱ 次の問１～１０において、各文の空欄に入れるのに最も適切なものを①～④の中から一つず

つ選べ。解答番号は  13  ～  22  

 

問１ At the meeting, everyone   13   about the importance of social welfare. 

 

① informed         ② talked 

③ discussed            ④ said 

 

問２ I’ve already finished   14   my homework. 

 

① do   ② done 

③ doing   ④ being done 

 

問３ John also finds science   15  . 

 

① fascinating  ② fascinate 

③ fascinated   ④ to fascinate 

 

問４ If it   16   not for your help, we couldn’t start this project. 

 

① been   ② is 

③ were   ④ be 
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問５ Water usually   17   at 0 degrees Celsius. 

 

① is freezing  ② freezes 

③ will freeze  ④ has frozen 

 

問６ If you have any questions, don’t hesitate to let us   18  . 

 

① know   ② to know 

③ knowing  ④ knew 

 

問７ In this Internet era we live, we are exposed to   19  . 

 

① many informations ② a lot of informations 

③ much information ④ a great many information 

 

問８   20   hard you may try, you won’t be able to do it by yourself. 

 

① However  ② Even if 

③ Although      ④ Whichever 

 

問９ Wow, John passed the final exam so easily! Though he said he didn’t do anything, he   21   a lot for 

this test. 

 

① studies        ② must study 

③ has studied  ④ must have studied 

 

問１０   22   what to say, I remained silent throughout the meeting. 

 

① I didn’t know   ② Not to know 

③ Not known  ④ Not knowing 
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問題Ⅲ 次の問１～５において、ＡとＢの会話が成り立つように、空欄に入れるのに最も適切なものを

①～④の中から一つずつ選べ。解答番号は  23  ～  27  

 

問１ Ａ： Didn’t you see my message? 

      Ｂ：   23   

      Ａ： That’s OK. I’ll tell you what I wrote in it. 

 

① Yes please, sorry. 

② No, sorry. 

③ So did I. 

④ Neither did I. 

 

問２ Ａ： Front desk, how can I help you? 

      Ｂ： Well,   24   

      Ａ： Sure, at what time? 

 

① I have to get up early tomorrow, so can you give me a wake-up call? 

② I have nothing to do tomorrow, so I just want to stay up late tonight. 

③ do you have this shirt in a bigger size? 

④ don’t wake me up tomorrow morning. 

 

問３ Ａ： Excuse me, I’m wondering if you have time now because I have some questions about your lecture. 

      Ｂ：   25   

      Ａ： Great! I appreciate it. 

 

① Yes, you’re. 

② Certainly not! 

③ Of course! 

④ Well done! 

 

問４ Ａ： What will happen to our picnic if it rains? 

Ｂ： If that happens,   26   

Ａ： Can’t you just postpone it? 

 

① I’ll reschedule it. 

② I’ll have to call it off. 

③ I don’t think it will rain. 

④ we’ll put it off. 

 



- 5 - 

 

問５ Ａ： John, there is someone at the door. 

Ｂ：   27   I’m too busy now. 

Ａ： Sure. It must be the mail carrier. 

 

① He’ll get it. 

② Who is it? 

③ Can you get it? 

④ Shall I get it? 

 

 

 

 

問題Ⅳ 次の問１～５において、与えられた語句を並べ替えて正しい英文を完成させる時、３番目と 

５番目に来る語句を①～⑥の中から一つずつ選べ。解答番号は   28   ～   37   

 

問１ 私はずっとエッフェル塔を見たいと思っていたんです。 

（ ① always   ② the Eiffel Tower   ③ wanted   ④ to   ⑤ see   ⑥ have ） 

 

I          28       29     . 

 

問２ 社長は社員にそのプロジェクトを成功させるためには忍耐力が必要だと伝えた。 

（ ① patience   ② that   ③ needed   ④ to make   ⑤ they   ⑥ her staff ） 

 

The president told           30         31       the project successful. 

 

問３ 私たちは１１時にパーティの準備を始める予定です。 

（ ① set up   ② the party   ③ are   ④ begin to   ⑤ going to   ⑥ for ） 

 

We          32       33      at 11 o’clock. 

 

問４ 2010 年代には 2000 年代の２倍の観光客が金沢に訪れた。 

（ ① many   ② in the 2010s   ③ as   ④ twice   ⑤ tourists to Kanazawa   ⑥ as ） 

 

There were          34       35      in the 2000s. 

 

問５ ステージ上で踊っている女性が私たちのグループのリーダーです。 

（ ① our group   ② is   ③ on stage   ④ the leader   ⑤ dancing   ⑥ of ） 

 

The woman          36       37     . 
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問題Ⅴ 次の文章の各空欄に入るべき語を下の①～⑨の中から選べ。ただし、それぞれ一度のみ使うも

のとする。また、選択肢の語は、文頭に来る場合も小文字になっている。 

解答番号は   38   ～   43   

 

Economics and Human Nature 

 

Imagine you want to buy a clock. You see one that you like in a shop near your house for 2,000 yen. Then a friend 

tells you that she saw the same one downtown for 1,000 yen. Would you make a special trip downtown to buy it for 

1,000 yen? 

Now consider a similar question. You are planning to buy a new laptop computer1. You saw one at a neighborhood 

store for 201,000 yen, but you also saw the same one downtown for 200,000 yen. Would you make a special trip 

downtown to   38   the lower price? 

If you are like most people, you would choose to go downtown for the clock, but buy the laptop computer in your 

neighborhood store.   39  , if you did so, your thinking is not so logical2 because your “cost-benefit” is the same 

in both situations: 1,000 yen.   40   by going downtown you save 50 percent on the price of the clock and only 

0.5 percent on the laptop computer, your real savings is the same in both cases: 1,000 yen.   41  , thinking in 

terms of percentage is not so logical in this situation. 

“Cost-benefit” is one of the most basic economic principles. It says   42   you should take an action only if 

the extra benefit is greater than the extra cost. In the example above, because the benefit of going downtown is the 

same in each case, your answer,   43   it is “yes” or“no,” should be the same for both situations. 

 

出典：Stapleton, P. (2010) Econosense – Economics and Human Nature. Cengage Learning. 一部改変 

 

注：1laptop computer：ノートパソコン 

2logical：論理的な 

 

 

① however 

② that 

③ sell 

④ give 

⑤ therefore 

⑥ whether 

⑦ otherwise 

⑧ although 

⑨ get 

 

 

 

 

 

 

 

 

 

 

 

著作権の二次利用権許諾を得ていないため、表示しておりません。 
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問題Ⅵ 次の文章について設問に答えよ。解答番号は  44  ～  50  

 

  Although the first nuclear reactor1 was built in 1942, the first full-scale nuclear power plant began operations in 

England in 1956. Since then, many more nuclear power plants have been built around the world. As of 2016, there 

were 450 nuclear power plants in 31 countries. [ A ] 

  Nowadays, the demand for energy keeps increasing, while at the same time public opinion pushes governments 

and companies to reduce carbon emissions2. Nuclear energy         47         because it is a relatively clean 

source of energy that requires little resources to operate, produces energy in abundance3, and emits4 low quantities 

of CO2. [ B ] However, it has disadvantages that have negative impacts on our environment. 

  Two problems associated with nuclear energy are the lifespan of nuclear reactors and the disposal of radioactive 

waste5. The reactors used by nuclear power plants have a lifespan of roughly 40 to 50 years and need to be replaced 

so the power plant can continue producing energy. Also, the fuel used by the reactors is very radioactive waste: we 

must reprocess it to extract fuel or bury it deep in the ground and therefore risk soil and groundwater contamination6.  

  [ C ] In 1986 there was a nuclear disaster in Chernobyl, Ukraine, when one of the reactors exploded. Many 

people died and the area close to the power plant is still very dangerous to humans due to the high levels of radiation7. 

[ D ] In 2011, another disaster happened in Fukushima, Japan, after a powerful earthquake and a tsunami 

damaged the cooling system of the reactors, resulting in explosions and a lot of radiation released into the 

atmosphere and the area.  

  Right now it is clear that a decision must be made. Should we replace aging reactors and keep investing in nuclear 

energy? Or should we start investing in developing new sources of energy? 

 

出典：Adam Murray et al. (2019) Our World Today: An Introduction to Environmental Issues. NAN’UN-DO. 

一部改変 

 

注：1nuclear reactor：原子炉 

2carbon emissions：炭素排出 

3in abundance：多量に 

    4emit(s)：発する 

    5radioactive waste：放射性廃棄物 

    6contamination：汚染 

    7radiation：放射能 
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問１ 次の英文を読み、本文の内容に合っていれば ① True 、間違っていれば ② False を選べ。 

解答番号は   44   ～   46   

 

１．The first full-scale nuclear power plant in England started operations in 1956.    44   

２．Nuclear power plants produce a lot of energy but also need a lot of resources.    45   

３．It is completely safe to bury used nuclear power plant fuel.    46   

 

問２   47   に入るべき最も適切なものを下の①～④の中から一つ選べ。 

 

① has a lot of power plants 

② seems to be the perfect solution 

③ doesn’t seem to be the perfect solution 

④ has few advantages 

 

問３ 次の文は、[ A ]、[ B ] 、[ C ]、[ D ] のいずれかに入る。最もふさわしい箇所を   

①～④の中から一つ選べ。解答番号は   48   

 

Additionally, there are safety hazards associated with nuclear energy. 

 

① [ A ] 

② [ B ] 

③ [ C ] 

④ [ D ] 

 

問４ 本文上から１０行目の very に最も近い意味の語句を下の①～④の中から一つ選べ。 

解答番号は   49   

 

① merely 

② hardly 

③ lowly 

④ highly 

 

問５ この文章のタイトルとして最も適切なものを下の①～④の中から一つ選べ。解答番号は   50   

 

① Wonderful Nuclear Plants  

② Whether Nuclear Power Plants Should Be Replaced or Not 

③ The Way to Replace Aging Reactors 

④ How to Reduce Power Plants of the World 



2023(令和5)年度　金沢学院大学・金沢学院短期大学
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解答例【基礎学力試験】

英語

解答番号 正解 配点 解答番号 正解 配点

1 ② 1 28 ③

2 ③ 1 29 ⑤

3 ① 1 30 ⑤

4 ③ 1 31 ①

5 ① 1 32 ④

6 ② 1 33 ⑥

7 ② 1 34 ①

8 ① 1 35 ②

9 ② 1 36 ②

10 ③ 1 37 ⑥

11 ④ 1 38 ⑨ 1

12 ④ 1 39 ① 1

13 ② 1 40 ⑧ 1

14 ③ 1 41 ⑤ 1

15 ① 1 42 ② 1

16 ③ 1 43 ⑥ 1

17 ② 1 44 ① 1

18 ① 1 45 ② 1

19 ③ 1 46 ② 1

20 ① 1 47 ② 2

21 ④ 1 48 ③ 2

22 ④ 1 49 ④ 2

23 ② 1 50 ② 3

24 ① 1

25 ③ 1

26 ② 1

27 ③ 1

1

1

1

1

1

50計

問題Ⅰ

問題Ⅱ

問題Ⅲ

問題Ⅳ

問題Ⅴ

問題Ⅵ
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